

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3} = \left(5\sqrt{3} + \frac{1}{2\sqrt{3}}\right) \times \frac{1}{\sqrt{3}}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\begin{aligned}\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3} &= \left(5\sqrt{3} + \frac{1}{2\sqrt{3}}\right) \times \frac{1}{\sqrt{3}} \\ &= 5\sqrt{3} \times \frac{1}{\sqrt{3}} + \frac{1}{2\sqrt{3}} \times \frac{1}{\sqrt{3}}\end{aligned}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\begin{aligned}\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3} &= \left(5\sqrt{3} + \frac{1}{2\sqrt{3}}\right) \times \frac{1}{\sqrt{3}} \\ &= 5\sqrt{3} \times \frac{1}{\sqrt{3}} + \frac{1}{2\sqrt{3}} \times \frac{1}{\sqrt{3}} \\ &= 5 + \frac{1}{2 \times 3}\end{aligned}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\begin{aligned}\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3} &= \left(5\sqrt{3} + \frac{1}{2\sqrt{3}}\right) \times \frac{1}{\sqrt{3}} \\ &= 5\sqrt{3} \times \frac{1}{\sqrt{3}} + \frac{1}{2\sqrt{3}} \times \frac{1}{\sqrt{3}} \\ &= 5 + \frac{1}{2 \times 3} = 5 + \frac{1}{6}\end{aligned}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\begin{aligned}\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3} &= \left(5\sqrt{3} + \frac{1}{2\sqrt{3}}\right) \times \frac{1}{\sqrt{3}} \\ &= 5\sqrt{3} \times \frac{1}{\sqrt{3}} + \frac{1}{2\sqrt{3}} \times \frac{1}{\sqrt{3}} \\ &= 5 + \frac{1}{2 \times 3} = 5 + \frac{1}{6} = \frac{5 \times 6 + 1}{6}\end{aligned}$$



$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\begin{aligned}\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3} &= \left(5\sqrt{3} + \frac{1}{2\sqrt{3}}\right) \times \frac{1}{\sqrt{3}} \\ &= 5\sqrt{3} \times \frac{1}{\sqrt{3}} + \frac{1}{2\sqrt{3}} \times \frac{1}{\sqrt{3}} \\ &= 5 + \frac{1}{2 \times 3} = 5 + \frac{1}{6} = \frac{5 \times 6 + 1}{6} \\ &= \frac{30 + 1}{6}\end{aligned}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\begin{aligned}\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3} &= \left(5\sqrt{3} + \frac{1}{2\sqrt{3}}\right) \times \frac{1}{\sqrt{3}} \\ &= 5\sqrt{3} \times \frac{1}{\sqrt{3}} + \frac{1}{2\sqrt{3}} \times \frac{1}{\sqrt{3}} \\ &= 5 + \frac{1}{2 \times 3} = 5 + \frac{1}{6} = \frac{5 \times 6 + 1}{6} \\ &= \frac{30 + 1}{6} = \frac{31}{6}\end{aligned}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

$$\begin{aligned}\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3} &= \left(5\sqrt{3} + \frac{1}{2\sqrt{3}}\right) \times \frac{1}{\sqrt{3}} \\ &= 5\sqrt{3} \times \frac{1}{\sqrt{3}} + \frac{1}{2\sqrt{3}} \times \frac{1}{\sqrt{3}} \\ &= 5 + \frac{1}{2 \times 3} = 5 + \frac{1}{6} = \frac{5 \times 6 + 1}{6} \\ &= \frac{30 + 1}{6} = \frac{31}{6}\end{aligned}$$

$$\left(\sqrt{75} + \frac{1}{\sqrt{12}}\right) \div \sqrt{3}$$

github:

<https://min7014.github.io/math20200109002.html>

Click or paste URL into the URL search bar, and you can see a picture moving.